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§9.1-9.5 Qulz #6 score 27 July 2000

1. Leta=(1,2,4) and b = (-1,2,1). Compute comppa and proj,a (5 points)

2. Find all vectors of length 3 that are orthogonal to both of the vectors (1,1, 1) and (-2, 3, 4).
(5 points)

3. Find an equation of the plane that contains the point (5,—1,2) and the line given by the
vector equation (x, y,z) = (1,2,3) + t(3,2,1). (5 points)

4. Find an equation of the line that contains the point (3, 1, 3) and is perpendicular to the
plane 3x + 2y — z = 987. (5 points)



